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1. Use the OMR Sheet with care. Do not fold or smudge. Make no Stray marks on this sheet.
2. Please do not put additional pressure while writing the précis (for Part — II) as it may damage the other side of
OMR Sheet, resulting improper evaluation. Commission will not be held responsible for such cases.
3. Use Blue/Black Ball Point Pen for filling the Circles (O).
4. Asshown in the example, blacken the Circles completely.
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5. Donot use Whitener or Eraser,
L 6. Write your Full Name, Name of the Centre and Sign'in full'im the spaces provided and nowhere else.
| 7. Write your Roll No. and Question Book?c No. anid blackeri the gorfesponding Circles positively. In case of any
| miismatch between the written particulags 2nd corgspondingshading e OMR Answer Sheet shall be rejected
| straightway.
Example for filling up of the Roll Number Example for filling up of the Question Booklet Serjes
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8 For Part - I, you should mark the correct answer by darkening the circle against the appropriate option.
9. For Part - II, you should write a précis from the given passage in English within the space provided forthe |
purpose and nowhere else.

10. You must remain seated until the answer book is collected by the invigilator.

QUESTION BOOKLET

1. Please donot open the booklet unless instructed to do so by the Invigilator(s).

A Qmﬁunsamdividedintwoparts-l’art-l(carryinglzamarks)andPart-ll(mrym
3. There are 120 (One Hundred and Twenty) Multiple Choice Type Questions in this booklet
1 mmmmmmmmamwmmma :
4 There is one descriptive question for Part - II, carrying 30 marks.
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y 3. If9*=3Y, then 2 ~5
b A) x=y ) 2=y ©) x=2y D) y=xiud M
|

4.  If the area of the circumcircle of an equilateral triangle be 616 sq.m., then the height of ﬂlﬂ ‘;
® triangle is (in m.)

(A) 28 (B) 7 (@) 14 D) 21 .

AL

S.  The tidalforest is known as : :

(A). Tropical Evergreen Forest (RY  Wet Deciduous Fores

./ ) /Mangrove Forest (MY Alpine Forest RS
thin the set {0,1,2,3} 2

6.  Which root of the inequality 7x + 5 > 5x # 9 liés wi
WO @0 B) 1 u(’C/‘l

7. / M. Banerjee bought a govern
0\ context that his wife and son
received T 6,720 after the term,

C (a) 6,000 (B) 7,000

) 2 D) 3

The nick name of Swami Vivekananda was
(A) Surendranath /(‘B) Narendranath ~ (C) Bhupendranath (D) S

The author of ‘An Unknown Indian’ is
(A) ., Kuldip Nayar (B) Amrita Pritam ™
{2) Nirad C. Choudhuri (D) Anurag Mathur

9.
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"
21.

(A) He is vulnerable to criticism.
‘@f He is vulnerable from cn
‘What is the pseudonym of Mad

“ % AT
L to advance the cause of peace

3. ina holy partnership 4.  bound toge |

(A) 4321 (B) 2314 45 1342 (D) 3241 3
: £

The constituent particles of the nucleus of atom are

(A) proton and electron ) proton and neutron AY 1

(C) neutron and electron ; (D) neutron and positron R‘-

Plucking -- Rolling -- Fermenting -- Drying -- Sorting -- Blending -- Packing etc. are the
process for marketing the crop of
(A) Coffee (B) Sugarcane )Q’ Edible oil D) Tea

The paramilitary forces who guarded Nazi meetings and attacked the gatheri s of other
pal’ties. ot I f Xy }'n-__t_hu-'j!' ) . iy
(A)( Elite Guards (B Gestapo "(@) + Red Shirts @) is

Choose the sentence which is grammatically correct.

is vulnerable for cntlclsm
erable m @u S

(A) Srim @) Moumachi . s . ,
) Nabakumar Kabiratna (D) Poyen

Area of a circle ‘a’ sq.units, circumference is ‘b’ units and diagonal is ‘¢’ umm_ v
a/be will be
A 1 B) 2 ) 1/4

ﬁmss old as hls younger son. If the difference between the age
the preswt age of Sukanta Babu is




25. Which sports playing area is 2.7 metres by 1.5 metres ?

X * (A Billiard (BY Table Tennis _{€J  Lawn Tennis
26. Choose the best response to complete the given sentence : i sanlly
At Wimbledon, Andre Agassi is again the of attention. -
r (A) celebration m centre (C) cause (D) front

27. Scientist Aryabhatta was in which-dynasty ?
"~ (A) Maurya (B) Kufhan

28. /Wind speed is measured by an instrument

= adda=y

‘/'u d&@ &xtant
29. The number of members nominated to the Rajya Sabha by President
/ (A) 2 (B) 10 (C) 13
30. Two tangents PA and PB are drawn from the external point P ef _

If angle APO = 30°, angle AOB =
B) 150° @ 1200

A0 8



/ (A) Der
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36.
gl

37.

38.

- (A) 100 (B) 150

“These mangoes are ripe.” .
(A) more ﬁ) almost (C) most (D) almostly ,
Complete the simile :

“As brittle as

&) metal (B) mirros (C) glass

rdest part in teeth is s 60 N
itine (B) Bone ME amel

5% more is gained by selling a cow for ¥ 1,010 than by selling it for T 1,000. Fin

of the cow.
(C) 200 (D) 250

Choose the correct alternative :

Three angles of a quadrilateral are 190", 90° and 92° respectively. Find t

—

angle. ' -
( A) 50° (B) 60° dﬂo AL A :
It takes four hours for'a 300 km train and the rest by car. It

takes 10 minutes more, if 100 km is done by train and the rest by car. The ratio of th

speedofthecartothatofthetrainis ¢ el
Ay 2:3 B) 3:2 -‘RC)/3:4 ) 4:3 b

It all happened suddenly. The opposite of ‘suddenly’ is e
(A) abruptly (B) quietly (C) momentari
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/ ._(Cf The scenery of Kashmir are very charming.

49.

ioh 8 1988

& b §oe ol | i i ol D) @
& Nothing could be more disappointing. _(P) Itis a great disz

He and I am well. Correct the error from the following alternatives : X '

(A) is _B) are }f{)’ was (D) am bm

What is the amount of pH in acid rain ? -

&) 7 @) 55-69 © <55 ® >7

Many people died for C;?lem. Chodte thelcSriectaltémative tor

(A) /in ) of (€) with e

(B) The sceneries of Kashmir is V€ ch

The sceneries of Kashmir are very charming.[Rewritgithe sentence correcting errors. Select

the correct option. R B

(A) The scenery of Kashmir is : v -
g_ vl ;

(D) The scenery of Kashmir’s is very charming. L

Lokesh’s school bus is facing North when it reaches his school. :
Lokesh’s house, if turns right twice and then left before reaching |
direction was the bus facing when it left but stop in front of Lokesh’s

(A) North (B) South ,‘(Q East
Who was Susrut ? M
)

Adtt o7

(A) Artist (B) Philosopher




Shemad’eadoll
/ ﬁ(Aﬂlsmadebyhet.

(D) A doll was made by her. - » ‘A

54, In an election 75% voters have polled vote. Out of which 2% are cancelled. Getting 75%
votes of valid vote who selected got 9261 votes. No. of voters in the centre was :

M () 16400 LBy 16800 XC) 16200 (D) 16000 (%

55. Choose from the given alternatives (A), (B), (C) and (D) the word that may be correctly }
used to fill'up the blank space in the following sentence :

1 The of the Head of the state created political unrest and instal

/ (A) / disuse (B) diseasc LG decease

56. /The time difference between 1.S.T and G.M.
/ ) 5 hrs 30 minutes (B) SB Iamntes (D)
Be s Tk
57. Find the correctly spelt word : , o
A (A) theseruss (B) thesaruss {€) thesarus (D) th&gm -

X

Chopse the sentence which is correct : _' \ &
Put down your name on this page (B) Put in your name on this Fii i y

% f (C) Put out your name on this page (D) Put up your name ‘

59, Cmmmwnymofmequoted word : © Mg



© Bonhay

63. Tick the correct answer :
He enjoyed during the holidays.

(A) He enjoyed itself during the holidays. gk &S
He enjoyed oneself during the holidays. ol
) He enjoyed himself during the holidays. : i X
(D) None of the alternatives x "
kL%

)" % 64. Fill in the blank with right preposition :
The sacted portals __ Kedarnath will reopen on April 24™ after their winter-
L ~  closuze. 7 e

)( )4 in (B) from {Cy_gof :

—

65. (Choose the correct option :

A “Sheena, with all her cousins, gone fi

’f. rl m have (B) has

Lhsce sebeb B
_E' 66. The difference of two acute an
smallest angle is

™ A 15 (B) 10° ) 9°

; 67. Terracing is a process of
)

f (A) Forest conservation
(C) Water conservation

ﬁ- The abstractnonnof ‘decent’ is
CLCIY (B) deGeﬂCﬂ SO0

5




A% £ " (® Jammu& Kashn B8, o o0

> agighiies ey ‘ . .

© Madnya Pradesh (D) UWPM i
72.  Fill in the blank with correct alternative. & 25 3
| The poor have no enmity each other. e
I 1 (A) for (B) against .QC/ with D) w

73. A profit of 12% is made when a mobile phone is sold at ¥ P and there is 4% loss when the
N phone is sold at ¥ Q. Then Q : P would be
(A) 1:1 B) 4:5 ()~ 443 ) 612

74. Choose the correct alternative :
Every.man should be given his .
e (A) dew JB) ndue (C) do e

75. The first Field Marshal of the Acmned Forces of India was |
(A) Gen. Rajendra Singh B) S.H.F.J. Manekst
77. Choose the correct option :

o (C) Gen. A. S. Vaidya a Gen. K. Sundarji
“I shall stand by you thick and thin.”

. B
(A) in (B) with Jef through

76. Present Governor of the Reserve
S (A) ~Dr. Raghuram Rajan | |
& Shree Dr. Urjit Patel

Choose the antonym of the quoted ‘* word :

He is a ‘seasoned’ traveller.
JAf‘s unaccustomed  (B) adept (C)'
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(A) 55° B 4° (O S0° salint a@ﬁ;;{

83. Ina food-chain, tiger is a

/C’ (A)  primary consumer (B) primary producer
| )( (2 secondary consumer M tertiary consumer

84. Choose the correct synonym of the quoted word :

' No one was listening to his tale of ‘woe’. ) E
Y * (A Minh (B) Smile (C) Happiness (D) Satisfacion

85. There are four parts of a sentences(P; Q, R, S) put in jum
to form a meaningful sentence..Seleci the copreet-rasp
| P = Your proposal ol i
C Q = is admirable | 2r36& e O
R = that the ' money should be used = {" f

j ¢ 8 = to build a nursery school. — ' &0 4
SR  PRS B P - : | 2
F v 2 b
. 86. Read the sentence and choos iy ol AR
| He swagger around the stage in a black jumpsuit. ;
i Here ‘swagger’ means to 314}
\/ (A) accompany someone (B) travelonfoot
M walk with an air of superiority (D) tread thoughtlessly
it
87. Power alcohol is i
(A) 95.5% alcohol v 2
(B) 100% alcohol ,
»  (C) amixture of ethanol and methanol
(D) a mixture of ethanol and petrol in equal volumes + benzene




95,

Yy Cactus -Mucllage
_ﬁﬁ‘ Rahu fish — Lateral line sense organ
(C) Sundri tree — Leaf is modified into spine
(D) Pigeon — Pneumatic bone

Which is the different in the group from other — Pather Panchali, Agantuk,
Tara, Mahanagar ? _ . :
(A) Agantuk \IB)/ Meghe Dhaka Tara )
© Mahanagar (D) Pather Panchali- R

A pasan bought a house taking loan ¥ 8,00,000 at vearly 5% simple i
loan with interest he rent the howse at niofithly ¥ 10,000. He wﬂl _I;__ y the
(A) 12yrs. B) 10wis. (C) Byrs. D

A 700 gm dry fruit gift pack costs ? 1
raisin. If cashew nut costs I
raisin in the box is

(A) 300 gm (B)

Metal presents in chlorophyll is 2 A
(A) Manganese  (B) Calciom  4C) Magnesum (D)

The “Guardian of the Indian Constitution’ is
(A) Constituent Assembly -QBf Central Ministry
(C) Bureaucracy ‘58)' Supreme Court

If TOM = 48 and DICK = 27, what is HARRY equal to ?
(A) 50 (BY 80 ©) 60




 Rewrite the sentence using superlative dcgm of the adjecti
(A) Sachin Tendulkar is the greatest cricketer.
(B)" Sachin Tendulkar is one of the greatest cricketers.
(C) No other cricketer is as great as Sachin Tendulkar.
(D) Sachin is greater than any other cricketer.

104. The main commercial fibre crop of India is

_ / (A) flex ‘/(B{ jute (C) mesta

A’s money is 2/3 part of B’s money.and.B.s mmoncy. is 4/5 part of C '

.W _14( 8:15 B) 15:8 CRE

106. If(33.+ 7b) (5a J3B)=5 : 3, then value of b is
107 %n Classical dance was pop

(A) Hema Malini B) Sudha Chandmn
e Jd Uday Shankar (D) Yamini Knshnamm

108. Susil Babu deposited T 7,000 at 8% yearly simple interest in post offieg
After his death, his wife got T 12,600 back. Susil Babu deposited the

M years ago.
(A) 7 (B) 10 @y 3

m Expmssaspeedofmkm!hmmetrespersecond |
ﬂ' $- 4 M ; ' (C) 6, ks, :

......
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113, How many Mondays are there in a particular month of & gt 5
R B) 5 (C) 4ors o KR AORR -

=

114. In a mixture of 90 litres, the ratio of milk and water is 2 : 1. If the ratio is to D€ « s._:

| the quantity of water to be further added is (in litres) i
N @ e ®) 54 © 72 (D)
4 115. The smallest perfect square number that is divisible by 2, 3, 4, 5 and 6 would be
| & Wy (B) 3600 © 900 (D) 120
' | 116. Which of t-he following is correct.? 5 |
/‘ (A) 1IMB = 2048 bites - A7) | KB = 1024 bites

(C) 1MB =1000KB (D) Both (A) and (B)

>

| 117. World Environment Day is cele on -
(A) 25" December | ber S Gl N il

3 \/ o SO 5% June e i 3
.' ! i [4 -\

118. In a city the taxi fare is T 18 for the 1* one kilometre or less and then Z 1.50 for every extra
kilometre or part thereof. A man paid X C after travelling x km(x > 1), then which relation
is true ? e

(A) C=18+3x (B) C=1g+%x
© C=18+5k-1) @ C=18v+36-1)

119. Fill in the blank.
I was astonished the bad news.

(A at _ B) in

m— R T
In the Wes




beingdevmlredbythese smallcmmresthatmfestthec@ﬂ
their food in the heaps of rubbish and vultures eat rotten flesh of

keep our environment clean and fit for living. They plan an important t

the balance of ecosystem. But it is a matter of regret that growing urba
e W —

filling of water bodies are destroying natural habitat of birds and some of spe
extinction.
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